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Home Science
Paper 1I

TR

<
gyTutseht 11
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions, each carrying Two
(2) marks. Attempt All of them.

AT : A1 TRAehd TR TR (50) SgUERN TR fooidl oTRd. e GRAen g (2)

0 . W Y drel.

1. Test used to assess the ability of an | 1. TERN ==l 99 9 99 A=l fHAH

individual to detect the threshold for AT UTdes! TNUATEIS! STqRuar= qe
different tastes and odours ............. . WO

(A) Sensitivity (A) HogRierar

(B) Triangle (B) T

(C) Duo-trio (C) =yaf-fesn

(D) Ranking (D) T

The brown discolouration in cut

fruits is due to oxidation of ............ .

HTIATIT Toold TUAfRUHI0 TErd

TChHTAT TR BId ;@

(A) Tannins (A) S

(B) Anthocyanins (B) STelEm=
(C) Anthoxanthin (C) efeelieteiia
(D) Glycosides (D) TATIhERSH
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Yeast is a ............. .
(A) Preservative

(B) Emulsifier

(C) Leavening agent
(D) Colour enhancer

Caramel custard is an example of

all of the following except ............. .
(A) Gelation

(B) Caramelisation

(C) Syneresis

(D) Dextrinisation

Amylase rich flour is used to

prepare weaning foods to ............. .
(A) Increase viscosity

(B) Decrease viscosity

(C) Decrease cost

(D) Decrease toxicity
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(A) e etk
(B) fgsrafeens
(C) HTah

(D) U7 ey geret

HTA HELE T JeaTdshl U ool Hal

(D) fusehom= drgeienio

=T wened sffhes g e sTRuar

(A) TTEUN el

(B) TreYUm &l o

(C) frua =Hr =

(D) It Sesh T o




Meat may be tenderised by all of the

following except ............. .
(A) Vinegar

(B) Curd

(C) Papain

(D) Soda

Which of the following carbohydrate
foods provides the quickest source of

energy ?

(A) One chapati

(B) One cup milk

(C) Two Marie Biscuits
(D) One cup orange juice

Milk is pasteurized in order

70 R .

(A) Sterilize it

(B) Improve its taste
(C) Increase shelf life

(D) Kill harmful bacteria
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JEICTUeh! ST SIShINTET Hel SISl HId

T R .
(A) feTr

(B) <&

(C) A

(D) EreT

JEIcTdeh] I Fhelqehged Uared Soig

FHIRA QU S ?
(A) T =awr
(B) TH %Y 3
(C) T =l fefene

(D) Tsh HY TAT ™

o~

IR R E T R K IR E S I G

(A) TrSigeteto 2
(B) ¥d HURY

(C) fehauentes daeaul

(D) =ae fSEmoET AR

[P.T.O.



10.

11.

Which of the following is not a

characteristic symptom  of

marasmus ?

(A) Old man's face
(B) Pot belly

(C) Sparse hair
(D) Muscle wasting

A good source of mono-unsaturated

fatty acid (MUFA) is
(A) Olive oil

(B) Sunflower oil
(C) Safflower oil

(D) Corn oil

B Complex vitamins function

as .eeeeeennne .
(A) Anticoagulants
(B) Coenzymes
(C) Antioxidant

(D) Prostaglandin

10.

11.
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12.

13.

14.

Haeme source of iron is ............. )

(A) Methi leaves

(B) Rice flakes

(C) Sheep liver

(D) Milk

Mineral associated with glucose

tolerance is ............. .

(A) Phosphorous

(B) Sodium

(C) Selinium

(D) Chromium

Which of these seasonings may be

used on 1g sodium restricted diet ?

(A) Soya sauce

(B) Lemon juice

(C) Margarine

(D) Celery salt

12.

13.

14.
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D) T

TS Aiewd Yéia e el Hefud
R,

(A) ®ITHRE
(B) difeam
(C) Tfafttzm

(D) HIfaH

T YA Hifeaq Tuam=al 3TN

qEIcdeh] IO a1Y ATaTd 2
(A) 9= 6|

(B) fefem=n =

(C) ArfA

(D) Ferl Hiee

[P.T.O.



15.

16.

The richest source of Alpha

Linolenic acid is ............. )

(A) Salmon

(B) Soyabean

(C) Flax seeds

(D) Wheat

Behavioural disorder of self

starvation and refusal to eat due to

fear of gaining weight is ............. .

(A) Anorexia Nervosa

(B) Bulimia

(C) Depression

(D) Dysphagia

16.

NOV-17211/11

T T 3Tt U 3UH ATsieer

(A) g A

(B) 9Em&H

(C) waH

(D) g

gSeReal Hifdd T = SnTeh A

IR d 3T @MUl TR U

(A) TARferan aEn

(B) dfetta=n

(C) W¥a

(D) Y& FE0




17.

18.

The best way to cool large volume

of food quickly is to ............. .

(A) Refrigerate while hot

(B) Cool at room temperature
shallow

(C) Transfer it into

containers

(D) Keep it covered to prevent

contamination

Dietary advise to the elderly
includes all of the following

except .......eee.en .

(A) Avoid spicy fried foods

(B) Avoid gas-forming foods

(C) Include a variety of textures

(D) Have small frequency meals
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17. AT JHOMA 371 9eh 9 HuIrda!

18.

(A) TRH EAAE IFeReT AL o

(B) H©icit=a dIHME €€ &4

(C) Uz TTSAHE STl

(D) SIqHE TeeUATEIE! R o

SIS STERIT Hoell Sl erardeh!

TehHTTYTETT 99 Hool Ag 3did, O oS

(A) HHRR dodd qerd 2resl
(B) arg T R weted el

(C) fafgur dai=ar wetei=n QU

B3

(D) Thradl e T=aared =0

[P.T.O.



19. A commissary is a ............. .

(A) Mobile Food Unit

(B) Large Central Kitchen

(C) Fast Food Restaurant

(D) Boarding School

20. The term Mise en place refers

to el .

(A) Maintaining minimum stocks in

a store

(B) Putting crockery and cutlery in

place after a meal

(C) Doing all the pre-preparations

before cooking

(D) Planning menus in advance
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19. ‘i’ wgoy

(A)

(B)

(©)

(D)

TRt o= e

OIS [egad WIueh X

FRE HE WNE

SHANE Al I

e N

20. TAY-T-<9 & Ha @it gwifed

(A)

(B)

(®)

(D)

HISUd HHARH HST ST

SEUHAR = FEE F FIE G

SeR S0

TR AU g TR hEd
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21. The weave which gives smooth and | 21, TTeSeld & THhGR gsIuRumm <1 fauitges

lusterous appearance to fabric e e T SR .
1S eeeeeeinnns .
(A) "
(A) Satin
(B) feoa
(B) Twill
(C) %U
(C) Crepe
(D) Plain (D) e

22. Which of the following is a protein | 22: EicTichl Afeor=t dq ko 2

fibre ? &) e
(A) Casien B) e T
(B) Acetate rayon

(C) T~
(C) Spandex

(D) Al

(D) Olefin

23. Tl dq HIMEH I gad .
23. Flax fibres are obtained from ............ .

(A) Seed hair (A) Formieter Fa
(B) Leaf (B) T
(C) Stem ©) dre
(D) Fruit D) =

9 [P.T.O.



24.

25.

26.

A yarn made by twisting two or more

single yarns is called ............ .
(A) Cord yarn

(B) Ply yarn

(C) Slub yarn

(D) Filament

‘Courses’ and ‘Wales’ are the terms

used to describe ............ .
(A) Non-woven

(B) Felts

(C) Woven fabrics

(D) Knitted fabrics

Slashing and spreading is the

method used in ............ .
(A) Flat pattern

(B) Drafting

(C) Draping

(D) Grading
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24. TN fhan fus WA UraT M <

25.

26.

(A) ®IE 9rm
(B) ™™ &M
(C) T& &M
(D) ftherrie

= =

ch{Ulcdl <nlYsid

JuH Hoag ‘i g
‘I A WS AU ?
(A) ?H—a‘l%?

(B) %ee

(C) HrMEeR faureret

(D) free wue

AT o |Wfen g HIEest aadd

(A) TIe Yo
(B) ST

(C) sfm

(D) afEn

10



27.

28.

29.

A short person should choose sari

with ............ .

(A) Wide border

(B) Skirt border

(C) Narrow border
(D) Horizontal stripes
Resources are ............ .
(A) inter-related

(B) measurable

(C) unlimited

(D) non-substitutional
Value of a colour represents ............

(A) the cost of the pigment

(B) the quantum of light it reflects

or absorbs

(®))

its importance in the colour

wheel

(D) its position in the spectrum

29.
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(A) Tt fead

(B) wrafdd foran snifea shoiean qenTema

THTO

(C) U < Hgwd

(D) BETMA TH

11
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30. A harmonious design can be best

31.

defined as one that ............ )

(A) has unity in variety

(B) has all its elements identical

(C) has all its elements contrasting

(D) has no specific criterion or

requirement

Standards based on the values of

social acceptance are called ............ .

(A) flexible standards

(B) conventional standards

(C) individual standards

(D) perfect standards

30.

31.
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qIeg fegmeT=l Irg e qeade]
Teh T :

o o

(A) fafayddiar Tandn

(B) Il Hd Tk THURE 3Ted

(C) Il 9d w2 fadet smed

(D) arErst fafyrse fHery foran stevaendn

B

qrTiSTeh  Tetohdr=ar FedArar T

JHIUTR T FRUTdTd

(A) wEfage JHOS

(B) 9RUIsh YHTUh

(C) SIfHdh YHUh

(D) A YR

12
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32. From the cost and convenience point | g9 formd o A g1 S fHerdt SaRd=
of view, the locality for a residential
fowmr gdial gam@ ST
building site should be ............ .
(A) land in a fully developed area (&) ot faspfaa ammdier ST
(B) land in a semi-developed area (B) 3791d: faonfad &=mdia STHIH
(C) land in an undeveloped area PP o
(C) AMdh[Ed &ATdId STHIM
(D) land in the central-business
. (D) Aegafd SEmas fSeamda SHE
district
33. B.I.S. stands for ............ . 33. BIS. ®u§ v
(A) Bureau of Indian standards (A) = 3F sfeod Eegg
(B) Bureau of International (B) @Ia 3 TSI &éséﬂ\
standards ]
(C) dfFs sFeapHa Eeeq
(C) Basic institutional standards
(D) =0 3w sfeom wfga™w
(D) Bureau of Indian services
4. R 9 9 gre=Ere I foear )
34. The science of dealing with the body 3 ¢
forces and motion is known as fomtm wory
............. (A) w éa-u'l‘
A t .
(A) posture B) R
(B) body mechanics
(C) TifqEma
(C) momentum
(D) ERE 9T
(D) muscular effort
13 [P.T.O.



35.

36.

In her pretend play, 5 year old Rita
used seeds as money to buy
vegetables from the vegetable

market. This illustrates ............ .
(A) Centration

(B) Symbolic thought

(C) Conservation

(D) Animism

A researcher is interested in finding
out if there is a relation between the
time she spends reading to her first
grade students and their reading
achievement. What type of study is
most likely to help her answer her

question ?

(A) Case study

(B) Longitudinal study
(C) Experimental study

(D) Naturalistic observation

35.

36.
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5 ol e fasa Aeacas B,

oTST STSTRIGA WISt fofehd Soame! s

ST YA AT FHSId
(A) HRH

(B) fosifciisr eife
(C) hIgrH

(D) e
TS HEHe S ufecien fornetn Ay
TrEEd. B G, e faehed

fad shell SO des o foeneaft ura

-~

CG Y

I9T A FY SUE ="

S® R, IS PV FhR hotal

HAY Sl STd F8r=AYd & ?

(A) &9 weI

(B) WISISEHA el
(C) YHIfiTeh A2y

(D) Agfiter fAeror

14
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37. When Rohan reads, letters appear - - - -
37. Segl Ugd drdd ohidl degl ATl 3:{%'&
to be reversed. What is Rohan’s
St feyard. Jg= 1L ST ShIoTdt
learning disability ?
Mg ?
(A) Dysgraphia
(A) fegurmin
(B) Dyscalculia
(B) fegsrarergeirn
(C) Myopia
(C) HrfT=n
(D) Dyslexia
(D) fegaiferm=n
38. Which parenting style has been
38. gyumEifaa ares fafu vararst
found to produce the best adjusted
qreteheaTel gard a9 it hiot 2
children ?
(A) Hihadlh SUR
(A) Permissive
(B) o€ JEUR
(B) Indulgent
(C) ATYRRgeH
(C) Authoritative
(D) EHAME!
(D) Authoritarian
15 [P.T.O.



39.

40.

Two-year old Lata loves to bang her
building blocks together, over and
over again. This type of play is best

categorised as ............ .

(A) functional play

(B) constructive play

(C) pretend play

(D) games with rules

An infant looking in a mirror notices
a red mark on her forehead in the
reflection and touches her forehead.

This behaviour does not occur till

(A) 8 months
(B) 12 months
(C) 15 months

(D) 24 months

39.

40.
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NN A

chalcdl

2 Ui Adien fad RETE DL

AT G-l G-l Yoehl HIET UrSTddl

3TESd. I Woae ehul
g; g .
(A) FHHEHS: Tos

(B) =AW

(C) ATEHE: WD

(D) FEAM W et

o

STING Tod = gfdfd

o ST TR

T TSR ATel W= ot fewd s

T e Ta=A R Bd dred
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41.

42.

Before Ajay could explore career
options on his own, his father told
him that he was expected to take
over the family restaurant after
graduating to which he readily
agreed. Which identity status has

Ajay adopted ?

(A) Diffusion

(B) Achievement

(C) Foreclosure

(D) Moratorium

A good communicator has to be a

good speaker and also a good ........... .

(A) Singer

(B) Actor

(C) Sportsman

(D) Listener

41.

42.
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FRhIe Teaug fafay qafE qeei-ae

I IMHvATYEd, e afear]

FedTdl SALal TN AH Tgel LM

ST HK hdl o 3TSTI B 79T TSt

TRl AT 3T

- 3esel= 51 Tehral.
(A) fewrgH

(B) aferegiie

(C) ISR

(D) HREREH

T FaTeeh 81 STl Skl STHTE ad=
(A) I
(B) 1fyear

(C) Weslg,

(D) &

17
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43.

44.

If the informative pamphlets
are distributed along with a
particular local language news

paper then that information reaches

(A) people receiving that paper

(B) illiter people

(C) people belonging to particular

religion

(D) people who read only English

newspapers

Blackboard and chalk still remains

a most reliable teaching aid in rural

India because ............ .

(A) Frequent power cuts

(B) Modern AV aids are expensive
(C) Teachers cannot use AV aids

(D) AV aids are not attractive

43.

44.
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Tkl Tqrfaes areidd Jasreaaay

qTfediasTeh areett, O i Hifedl shioredl

(D) W SUSH gA9S AEUR @i

YT WRATd TSR] TS-"hadl & Hald

e Reva-efara @eq 3

(A) SR @M e qLEd
(B) MYk THATE FEA TR THA

(C) Trerhi TR aTRdl ad

B

(D) THATA HEA ARbS FHdd

18



45.

46.

47.

Monitoring of any project can be

effective if it is done ............ .
(A) By interviewing individuals
(B) By analysing data

(C) By keeping watch only on

selected projects
(D) In continuous manner

Programme planning in extension

is an educational process which

involves ............ .

(A) Learning

(B) Commitment

(C) Teaching and Learning
(D) Teaching

Supervision of extension activities

should be ............ .
(A) Report oriented
(B) Well planned
(C) Casual

(D) Strictly disciplined

45.

46.

47.
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@ YA S®'R@  (AIfeT)

et

(A) et Hered! =

(B) Wifedt 9reaa fovaioor s&d

(C) Ufasr Uk e wed

(D) 9 <@ hed

foear forequmdial SR e

(A) 3T
(B) sifrctent
(C) 3TAMEA offur 37e9A

(D) JA&AMHA

IR el HEIFRAET TERE

ATET.

(A) @ =&Y

(B) gfaifsa

(C) ¥ rar S

(D) e &=

19
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48.

49.

50.

The Community Development
Programme was launched in India

0N ..cueeen. .
(A) 2nd Oct. 1948
(B) 2nd Oct. 1952
(C) 2nd Oct. 1954
(D) 2nd Oct. 1957

A conjectural statement of the
relation between two or more

variables is termed as ............ .
(A) Assumption

(B) Hypothesis

(C) Scientific statement

(D) Probability

A ratio of true score of variance to
observed score of variance is an

index of ............ .
(A) Validity

(B) Reliability
(C) True variance

(D) Error variance

48.

49.

50.
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qrcTTeh TR SRIhHT= Ferd YRdTd

®eel el ?

(A) 2 SRS 1948
(B) 2 SRR 1952
(C) 2 AR 1954
(D) 2 AR 1957

HEIRCC IS £ =l o el SRS EC Rl

THTEA holcdl dehiufsed  faemre

(A) &g faum

(B) Tfgdeh
(C) =g faum

(D) Gt

JeAl SEhTAl T Fiald Seacl

STehT=aT T eTumeHeh Aleisl 3Tl JHIIT

20
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